

SUBJECT:

Year:

Month:

Day:

کتابخانه

Page: ()

$$\textcircled{1} \frac{-b}{pa} = -1 \Rightarrow pa = b$$

$$\left. \begin{aligned} 1 &= 9a + 4a + c \\ 9 &= a - 4a + c \end{aligned} \right\} \begin{aligned} -1 &= 14a \Rightarrow a = -\frac{1}{14} \end{aligned}$$

$$a = -\frac{1}{14} \Rightarrow b = -\frac{1}{2} \Rightarrow c = \frac{1}{2} \Rightarrow y = -\frac{1}{14}x^2 - \frac{1}{2}x + \frac{1}{2}$$

$$\textcircled{2} px^2 + mx + (m+4) = 0 \quad a=p, b=m, c=m+4$$

$$\Delta \geq 0 \Rightarrow m^2 - 4p(m+4) \geq 0 \Rightarrow m^2 - 4pm - 16p \geq 0$$

$$\Rightarrow (m-12)(m+2) \geq 0 \Rightarrow m \leq -2, m \geq 12$$

$$\Rightarrow m \in (-\infty, -2] \cup [12, +\infty)$$

$$p-p > 0 \Rightarrow p = \frac{c}{a} = \frac{m+4}{p} > 0 \Rightarrow m+4 > 0 \Rightarrow m > -4$$

$$p-s > 0 \Rightarrow \frac{b}{a} = \frac{m}{p} > 0 \Rightarrow -m > 0 \Rightarrow m < 0$$

$$\left. \begin{aligned} m &\leq -2, m \geq 12 \\ m &> -4 \\ m &< 0 \end{aligned} \right\} \Rightarrow m > -4 < m \leq -2 \Rightarrow m \in (-4, -2]$$

$$\textcircled{3} px^2 + x(pm-1) + (p-m) = 0 \quad a=p, b=pm-1, c=p-m$$

$$x_1 + x_2 = \frac{-b}{pa} = \frac{-(pm-1)}{p} \quad , \quad x_1 x_2 = \frac{c}{a} = \frac{p-m}{p}$$

$$\Rightarrow x_1 + x_2 = \frac{1}{x_1 x_2} \Rightarrow -\frac{pm-1}{p} = \frac{1}{\frac{p-m}{p}} \Rightarrow -\frac{pm-1}{p} = \frac{p}{p-m}$$

$$\Rightarrow (-(pm-1))(p-m) = p \Rightarrow -pm^2 + pm + p - m = p \Rightarrow pm^2 - pm - p = 0$$

$$\Rightarrow m = \frac{0 \pm \sqrt{1}}{p} \Rightarrow m = \frac{1}{p} \quad \text{or} \quad m = -1$$

$$\Delta \Rightarrow (pm-1)^2 - 4p(p-m) = 0 \Rightarrow pm^2 - 2pm + 1 - 4p^2 + 4pm = 0 \Rightarrow pm^2 + 2pm - 4p^2 + 1 = 0$$

Genobar $\Rightarrow m = \frac{1}{p}$

$$\textcircled{16} \quad x^2 - x - \Sigma = 0 \rightarrow x_1 + x_2 = 1, \quad x_1 x_2 = -\Sigma$$

$$y_1 = x_1^2 + \frac{1}{x_1}, \quad y_2 = x_2^2 + \frac{1}{x_2} \rightarrow y^2 - Sy + P = 0$$

$$\rightarrow S = (x_1^2 + \frac{1}{x_1}) + (x_2^2 + \frac{1}{x_2}) = (x_1^2 + x_2^2) + (\frac{1}{x_1} + \frac{1}{x_2})$$

$$= (x_1 + x_2)^2 - 2x_1 x_2 + \frac{x_1 + x_2}{x_1 x_2} = 1^2 - 2(-\Sigma) + \frac{1}{-\Sigma}$$

$$\Rightarrow S = 1^2 - \frac{1}{\Sigma} = \frac{\Sigma - 1}{\Sigma}$$

$$\rightarrow P = (x_1^2 + \frac{1}{x_1})(x_2^2 + \frac{1}{x_2}) = x_1^2 x_2^2 + x_1^2 \times \frac{1}{x_2} + x_2^2 \times \frac{1}{x_1} + \frac{1}{x_1 x_2}$$

$$\Rightarrow P = (x_1 x_2)^2 + (x_1^2 x_2 + x_2^2 x_1) + \frac{1}{x_1 x_2} \Rightarrow (-\Sigma)^2 + 1 + \frac{1}{-\Sigma} = \frac{\Sigma^2 - 1}{\Sigma}$$

$$\Rightarrow y^2 - \frac{\Sigma - 1}{\Sigma} y - \frac{\Sigma^2 - 1}{\Sigma} = 0 \Rightarrow \Sigma y^2 - (\Sigma - 1)y - (\Sigma^2 - 1) = 0$$

$$\textcircled{17} \quad x_1 + x_2 = ?$$

$$\left(\sqrt[3]{x^3} + \frac{1}{\sqrt[3]{x^3}} + 1 \right) \left(\sqrt[3]{x^3} - 1 \right) - 1 \sqrt[3]{x^3} = 0$$

$$x \sqrt[3]{x} - \sqrt[3]{x^3} + 1 - \frac{1}{\sqrt[3]{x^3}} + \sqrt[3]{x^3} - 1 = 1 \sqrt[3]{x^3}$$

$$\left((x - 1 - \frac{1}{x}) = 1 \right) x \quad x^3 - 1x - 1 = 1x \rightarrow x^3 - 2x - 1 = 0$$

$$x_1 + x_2 = -\frac{b}{a} = 2$$



$$10. \quad \sum n = -\sum m \rightarrow n_2 = -m_1$$

$$m^2 - 4m + 4 = 0 \rightarrow m^2 - 4m + 4 = 0 \rightarrow (m-2)^2 = 0 \rightarrow m = 2$$

$$\rightarrow (n+2)(m-2) = 0 \quad -2, 2 \quad n^2 + 4n + 4 = 0 \rightarrow (n+2)^2 = 0 \rightarrow n = -2$$

$$|2 - (-2)| = 4$$

